Which of the following cannot be the

1.
probability of an event ?
(A) 0.4 (B) 4%
(®) 0.04% By 4

(E) Not attempted

2. Nominal Gross Domestic Product (GDP) is
(A) Gross Domestic Product (GDP)
evaluated at per capita income

)B’) Gross Domestic Product (GDP)
evaluated at current market prices

(C) Gross Domestic Product (GDP)
evaluated at constant market prices

(D) None of the above
(E) Not attempted

3. In a certain code language, “in the e|nd"
means “moh fik omt”, “end is near’ means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for

“near” ?
(A) moh (B) epy
(C) bod D) azh

(E) Not attempted

4. What is the rank of Haryana among
Indian States in terms of software export ?

(A) First. ~ @/ Third
(C) Second (D) Fourth
(E) Not attempted ;

5. When was the first General Election of
India held ?
(A) 1948 — 49
(B)°1951 — 52
(C) 1956 — 57
(D) None of the above
(E) Not attempted

CE1G - 5

1. fyefofea & & FHiA-4 fre T )
e el &1 Fehdl 7
(A) 0.4 (B) 4%
(C) 0.04% (D) 4
(E) IR 0

o, ATHATA Wehel TRE 3T (Sh.Edr) 2

() S SafeRT 3T rEICERERIRC]
Fehel Hte] 3G (. €.d.)

(B) A AR g T e TR
T Gl Be] 3G (sft.2r.dt.)

() oot oIt et AR TR
et TRe Iarg (SH.ErHn)

(D) I & A B T

(E) ST

3. et e w9 # “in the end” I 373 “moh
fik omt”®, “end is near” I 37ef “azh moh
bod” %?;ﬁ'( “in near future” <l aref “omt
azh epy"',_!% | “near” % ToTT % =T B 7

(A) moh (B) epy -
(C) bod (D) azh
(E) em;mﬁm

WA Tt | R T 8 7
(A) & (B) digu
(C) 8U (D) =i
(E) 3Tt

5. WRA 1 YgeTl 3T IS shal g1 o7 ?
(A) 1948 — 49
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10.

The signs of abs

of a point i Cissa and ordinate
) (= +)
+, =) i
C) (+, +) %g 2_ _;

(E) Not attempted

If sin®0 — cos2g = 0, then 0 is
(A) Qe (B} 45°
o

(C) 30° 90°

(E) Not attempted

What( type of signal does Integrated
Services Digital Network (ISDN) use ?
(A)“Analog ‘
(B) Digital

(C) Hybrid

(D) None of the above

(E) Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English

Dictionary.

1. Prestige

Pristine

Prescribe

Prepaid

. Premium @

(A) 4,5,3,2, 1
54,3 1,2

(E) Not attempted

fiea,,

0N

(B) 5,3,4,1,2
(D) 4,5,3,1,2

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?.

(A) Bhakra Canal e
(B) Bhiwani Canal &«
(C) Jawahar Lal Canal+

_(2( Gurugram Canal _
(E) Not attempted

CE1G - 2°

8, %a@wlﬁwﬁg%gaaﬂtzﬁﬁ%

8.

10.

for ER N
(A) (- +)
(C) (+,+)
(E) 3rrnfem

afe sin?0 — cos?0 =02, Al B8
(A) 0° (B) 45°
(C) 30° (D) 90°
(E) vt

s whta R e (TS
g ST 5 R a1 i e @

(A) T
B) fefrea
(C) TEfrE
(D) S5 | & HI3 T

(B) (+ -)
(D) (=)

(E) mﬁm

T fare @1 = Hitwe St G T e
1 35 39 3 quiar &, 99 9 SISl SreeEI
Famad |
Prestige
Pristine
;:'I?,:rescribe
Prepaid
Premium
(A) 4,5,3,2,1
(C) 5,4,3,1,2
(E) 3=t

BRETT < e 3R Higere fet
s S - T e R

(A) HIEST T

(B) farht 7=

(C) SETE ¥Tel &
D) TeIm &
E) STt

o s~ o=

(B) 5,3,4,1,2
(D) 4,5,3,1,2

(
(



Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

11.

CONVERSATION
(A) NATION STATION
(C) VERSION (D) REASON

(E) Not attempted

12.  Which of the following pair is not correctly

matched regarding the Cabinet of Akbar ?
Vakil — Chief Minister

(B) Diwan-i-Ali — In-charge of
Charities
(C) Diwan — Revenue Minister

(D) Khan-i-Saman — Home M:inister
(E) Not attempted

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

Guliband
(B) Kamari
(C) Mirjai
(D) Chaddar
(E) Not attempted

13.

14. Which of the following is not true ?

3243 3 M

2,5_5.2
B 3747473

2,5 5.2 ¢
©) 3747473 %
o 2,5.2.4 4
B) 3727375

T AN AIUIAL SN

11,

12.

13.

14.

o
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for e ot 3 & e g g A
mw%aﬁwmmm
ST ST Gehell B |
CONVERSATION .
(A) NATION (B) STATION
(C) VERSION (D) REASON
(E) TSRt
m%ﬁsﬂﬁw%éﬁaﬁﬁmﬁ@ﬂﬁ
aaﬂq-mgﬂaﬁgﬁﬁ—mq@%?
(A)aﬁﬂ - gE

B) Eiam-u-3reh! -m%m
(C.)aﬁ’orﬁ —mna?r
(D) @H-T-HHH -rcrguaﬁ
(E) TS ,
gfarom ¥ qeat gRT et # TR I o
SN AR HRM AR ?
(A) Tefier<
(B)a;q—ﬁ ........
(C) Tt 1
(D) =X
(E) TSR
ﬁqﬁ"'ﬁ'\@ﬂﬁaﬁq—qu—é}%?
M)E_ﬁzé_g

3 4 4 3
B gxg—gxg
B) 3%27273

g+§—§+g
©) 3727373

2 5_2 4
D) 3*273"5
(E) 3T
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15.

which district of Haryana ?
(A) Faridabad

)B’)’ Ambala |

(C) Gurugram
(D) Sonipat
(E) Not attempted

16.

or personal liberty except

(A) By the President’s order

(B) By the Prime Minister's consent

/Z} According to the procedure
established by law

(D) None of the above
(E) Not attempted

17. The meaning of Phulkariis

(A) A large part of villages of Haryana

(B) An art of making clay pots

/(Z) An art of shawl making
(D) None of the above
(E) Not attempted

18. Complete the following analogy.

Perfetti Van Melle India is located in

Article 21 of Indian Constitution stétes
that no person shall be deprived of his life

5] (&)

™ | /2\ ® | /a\
(9/@ S oo\

(E) Not attempted

(A)
‘o

CE1G - 25

15. el % fre A & Tk 9 A sied

femg ?
(D) Hrfiua
(E) Tt

16. Wl wfe % sigeac 21 7 e T

R T et oft s o 3geh Sfie

17. Wlﬁamm%

(A) =Ramom % TiEt % T w1 e
B) firdl &% = T W TH Hewl
(C) Wi T 1 T Hew

(D) ST & § i T

(E) ST9THd "

18. ﬁm%fﬁaam@m‘

Al ‘ Aj m " E
Al ela]
© |\&/ .' .o \
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19. What does DSS stand for ? 19, 21.09.Td, & A e R 7
(A) Digital Satellite Service (A) fefrea earee Gfed
(B) Direct Satellite System & (B) T fease faeeH
)XL‘) Digital Satellite System J C) fefree deamse fU=A
(D) Direct Service Satellite ~ (D) SRR Tfdd @%T'ITR
(E) Not attempted (E) i
20. lfa:b=5:7andb:c=8:09,then what 20. aﬁa:b=5:73ﬂ'{b:c=8:9%,?ﬁ
is the ratio ofa: ¢ ? a : ¢ 71 I I &M 7
(A) 35:54 /(Bﬁo 6 g3 (M35 (B) 40 63
(C) 45:63 ) 40 : 54 (C) 45:63 | (Q) 40:54
(E) Not attempted % %tz b; %’: 1 (E) A

21. The National \J!oters’ Day is observed on 21. Tt wagwl feed T'”m ST
(A) 25" November | (A) 25 7
(B) 26" November (B) 26 T pu—

(C) 30" December () sofe@= .,
D 25" January (D) 25 el By
(E) Not attempted (E) ST »

92 Whatis the name of the mirror-studdedring | 22. &fermn & izt a’m a%ﬁ 1Y % IS
worn on the right hand thumb by women in oy N 9l IS o et TSI I AH
Haryana ? TR ?

(A) Anant __ - (A) 3Fd 3 .
(B) Aarsi ‘.o (B) ST
_{ey Kangni (C) i
(D) Ponche DRI
(E) Not attempted (E) STt N
23.  Which of the following was the partner State |  23. freaferiga § & - TS i
of International Gita Mahotsav 2024 ? HEIcEd 2024 Ve T 941' ?
(A) Gujarat: . (A) TS .
(B) Uttar Pradesh (B) JWME .
(C) Odisha, (C) 3
(D) Rajasthan (D) T N
(E) Not attempted (E) ST e




24. Which of the following diagrams

indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

o
()
A(Q) o

O 1";;
(E) Not attempted b,

25. Which of the following is a joint.venture
between Japan and France located in

Sonjpat district of Haryana ?

) Nestle India e
(B) Yakult Danone India anate leltedoz,

(C) ‘Glaxo Smith Kllnegi./

(D) Ranbaxy
(E) Not attempted

26. When was ASEAN (Associaiiéﬁ of South
East Asian Nations) established ?
(A) 1967 _4BY 1985
(C) 1992 (D) 1949..
(E) Not attempted L
27. How many times Presudents Rule has
been imposed in Haryana ?
(A) One (B) Two
(C) Three (D) None of these
- (E) Not attempted

24,

25.

26.

27.

CE1G—-25
et 3 & Fw- e T,

g 3 %aﬂa
A ERLE aaﬁ?maaa

.,

(E) TSR \

e % i it ﬁ:'qa P
A) T s
) argee 3 $feen weele fefiies
(D) iqm g
(E) i
s (gfn o o Tl g
Hwmm R gg A ¢ L0
(A) 1967 ®) 1085
(C) 1992 (D) 1948
(E) JTSatda )
sitq|U|| T fepadl WX '{quﬁ( W —
T ?
(A) :; (B) al;ﬂ,"}
% ©) FHA B =
(E) s IS

Q
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28. Atrain travels at g speed of x km/hr for
2 hours, then decreases its speed by
10 km/hr and travels for another 3 hours.
If the total distance covered is 370 km,
then what is the initial speed of train ?

_(AY"80 km/hr (B) 100 km/hr
(C) 90 km/hr (D) 60 km/hr

(E) Not attempted
29. In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?
(A) 2017 48 2016
(C) 2015 (D) 2018
(E) Not attempted

30. Which tier of Panchayati Raj is

responsible for rural development at the
district level in Haryana ?

(A) Gram Panchayat
(B) Panchayat Samiti
4Gy Zila Parishad

(D) Gram Sabha

(E) Not attempted

31. Consider the following statements about

Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra,
ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images:

iv. The biggest one is Mahaparinibbana
image.
Which of the statements glven above is/are
correct ?
Only i and ii
ofB) Only iii and iv *
(C) Onlyi
(D) All of the above )
(E) Not attempted

il {0

CE1G -25

x Fopeft /2 ot ey @ 2 TR T
2. ::a%q% ﬁqgmﬁrrﬁmoﬁ?ﬁﬁ/mm
T et B 3R Afafea 3 = dh I HTh
R 1 afe 7 1 per g 370 FEAt 2,
o < wifies fa R 7 |

(A) 80 ffi/e@r  (B) 100 foprt/wrer
(©) 90 fmfi/ga (D) 60 fereft /=
(E) TSR
29. i # RW'&»’WF&W foper o
& H S off 7 ‘
(A) 2017 (B) 2016
(C) 2015 (D) 2018
(E) 3Tofra !
30. gfeEmm # e = W arfior foeer % forw
= TS H BHE- mwm%?
(A) T Y=
(B) v=rmIq gt
(C) Tt uftse
(D) T HT
(E) 3Tyatéa
31. mmaﬁ%aﬁﬁﬁw%mqu
fEm =t |
lém%mﬁéﬁ%%l
i. 3o STl T 3, ST 313
w&ﬁﬁwﬁxﬁaﬂ@%
il WW%T@E@%@I@
S 2t & 9g 61 i whrt
IR T |
iv. Wa@ﬁﬂm&ﬁwqﬁ%l
méﬂﬁﬁﬁq—m/émaﬁ%/% ?
(A) et i 37 jj
(B)Wmﬁl‘w
(C) e |
(D) ST wft
(E) TSt
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32. Badhkal Lake is located in which district
of Haryana ? |
(A) Hisar ! /LBj/Faridabad

33.

(C) Kurukshetra

: (D) Panchkula
(E) Not attempted

phoo§e the figure from the given altematives
in which the following figure is embedded.

X
2
A

(A)

S

@

(E) Not attempted -

(©) (D)

34. Consider the following statements about

river water system of India.
1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both1and2': |
(D) None of the above
(E) Not attempted

32.

33.

34.

CE1G-25

ghemn % fre et 3 sgwa ofa
fRmz ? |
(A) TeEm
(C) &
(E) 3T

' (B) WiqETe
(D) rerRel

for o foyepedl @ 3W SAPHA HT T
Hifvra forer] Freffaa amfa fofi g€ 2 |

=
d

N
© ® o @
W Y T ST Toredt < R

(E) 3Tormfi

forferRaa Bt T RER |

1. exET 9 1 gd o T Tl AT
o T yonfeEl ST 6 @l A

o. efift s A el 7 wna %
10 WY &5 T Ha HA A1l gEQ
Tl ) T ARA R

o H & HHE-/A H T /R ?

(A) FaA 1 ¢

(B) Fa@ 2

Waﬁxz‘cﬁ'

(D) I § & g &

(E) i




:

?haggar-Hakra river basin is classified in
Wo parts, where the higher area that is 3 sl ot % e # T 1 A
not flooded in rainy season is called o & <! gl Sl 2
(A) Khadar (B) Kalar (A) T (B) FH
(C) Bangar M Banjar (C) ST (D) ST
(E) Not attempted (E) ISt
36. The sum of ages of Aand Bis 72. If they | 36- A 3 B Y 3T B AT 72 2 | afe 3
are in the ratio 23 : 13, then find the age 31 <1 A 23 132, a1 B I 3
of B. § T HR |
(A) 32 years (B) 46 years (A) 324 (B) 46 9
(C) 24 years APy 26 years (C) 24 o (D) 26 o
(E) Not attempted Pt (E). e
37. What are data chunks transmitted over 37. S'EIaEI‘T{ Wrﬂ?l 221 T &1 T hal
the Internet called ? SR ? )
(A) Frames ;E)( Packets (A) S (B) Uhe
(C) Segments (D) Bytes.. (C)’ e (D) sgcH
(E) Not attempted (E) 3Tt
38. Which traditional jewelry pieCé VWOrn by 38. EF(&TU@ SogHl gl Ie W Il -4
Haryanvi brides consists of a spherical- S ‘TR'W S
shaped ornament attached to a string of i 61 et N 3%
gold ? TR & & 1 81 8 7
(A) Nath Y
(B) Borla (B)}:}Eil(FlT
(C) Koka (C),
(D) None of the above (D)Zﬂﬁﬂﬂ H ¥ B TR
(E), STt

(E) Not attempted

39. In the following letter series, some of the

2. et v e % g s o ¢

letters are missing which are iven in that
order as one of th% alternativssvbelow it. St 36 i T ey % ww o et s d
Choose the correct alternative. ' ffu e ? | ot ey Thw |
pbcaca elaba bcQca , _Q.QQL?QQQ ababik@_
(A) abcbb (B) bbbec . _{Ay abebb (B) bbbcc
(C) baaba (D) abbcc | (C) baaba (D) abbcc
!,f {l (E)‘ &ISRITRW

(E) Not attempted

-10-
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40.

If ‘A’ means ‘+', ‘B’ means ‘~, ‘C’ means '+,
and ‘D’ means ‘x’, then the value of
18A12C6D2B5 is _
(A) 15 (B) 25
sor 17 (D) 45
(E) Not attempted
41. Who is popularly known as the ‘Swang
Samrat’ of Haryana ?
(A) Harish Kataria
(B) Pandit Lakhmi Chand
(C) Baje Bhagat g
_4BY Ali Baksh -y
(E) Not attempted
42. An article is marked atz 3,000 and is sold
at a 40% discount. If the shopkeeperincurs
a 10% loss on the cost price, then what
was the original cost price of the article ?
/cﬁ(; 2,000 (B) 2,100
(C) 1,800 (D) 2,250
(E) Not 'attempted
43. The Chalukyan style of architecture is the
unhueswﬂheﬁsofwhmhquefdeMQ
styles of architecture ?
Dravida and Nagara styles
(B) Dravida and Kalinga styles
(C) Nagara and Hoysala styles
(D) None of the above
(E) Not attempted
44. What does the computer do with the input
received ?
(A) It deletes the data
It processes the input and generates
output
(C) It sends the data to another computer
(D) None of the above

(E) Not attempted [

-11-
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40.

41.

42.

43.

44.

CE1G - 25

afe A ared 4 R, B o B,
o 3 R, D w I W R, dl
18A12C6D2B5 1 A &

(A) 15 (B) 25

(C) 17 (D) 45

(E) ST

gRETn % @i wEre’ % A d B
ARt R 7

(A) b e |

(B) ufsa wraHt =g

(C) & WiTd

(D) 37eft srEw

(E) Irsranféa

T & T ¥ 3,000 3ifhd 3 IR T8 40%
1 e W S @1 2 | AG GHHGR B
ST qed W 10% Y g gt &, i a5
1 AR T e FT AT 7

(A) X 2,000 (B) % 2,100

(C)¥1,800 . (D) ¥2,250

Wa@wrﬁ?ﬁﬁmﬁiﬁaﬁﬁ%&

aregehell Jeft %1, 3l Heew w7

(A) B 3T I Sl

(B)a’%l‘ea.'aﬁtakf%msﬁ?ﬁ

(C) TR 3TN TrEet el

(D) ST § &/ w1 T

(E) TSR

A)aa%aaﬁszm%
tﬂizw%

D)wﬂﬂﬁﬁ%aﬁéwa \

(E) 3T




45. How many times in a day, are the hands
of a clock in straight line but opposite

direction ?
(A) 22 }g) 24
(C) 20 (D) 48

(E) Not attempted

46. Which number will come in the place of
question mark (?) in the following number
series ?
3,5,9,7, 33,65
(A) 13 -, (B) 15
ey 17 .. (D) 19

(E) Not attempted
47. What is the signif‘icance of the ‘Peeliya’
Odhani in Haryana’s customs ?

(A) Worn during marriage ceremonies
(B) Given to abride by her in-laws

y/Sent by parénts to their daughter
after the birth of a male child

(D) Worn during harvest festivals
(E) Not attempted

48. Which of the fdllqwing is not a storage
device ?

(A) Compact Disk (CD)
(B) Solid-State Disk (SSD)
(C) Memory card

_4By Monitor

(E) Not attempted

49. The value of (0.3)%is

(A) 0.27 (B) 27
Mow (D) 0.0027

49.

CE1G —25
45 Wﬁ?ﬁﬁ*“ﬁm‘ﬁﬁgﬁ@wﬁ
v & i Pt o 3 A E 2
(A) 22 (B) 24
(C) 20 (D) 48
(E)

35,9, 7,33, 65

46.

» 13 (B) 1°
©) 17 (D) 19
(E)
47. i 3 frah & “dfen’ G 1w
27

(C) TH T3 F S o =g I Hl IAqH
TraT—Tfoar gra S 1T @

(D) FE THTE & TIENI o QI T
STl 8

(E) It

48, Trerffas & ¥ HH-m1 wRw feamsw
TR 2

(A) i e ()

(B) Hifere-we fowh (qu.ww &)

(C) T 1

(D) AR

(E) 3Trtdra

(0.3 % a1 &
(A) 0.27."

- (B
(©) 0.027j ) &7

(E) Not aﬁempfea

(D) 0.0027
(E) 3Tatéra
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@ frefeiad ghamreh Tl & & S 1930
50. Who among the following Haryanvi 50. TP IE S N —
singers was known for Ghazals in Hindi 3R 1940 % urehi & fed '
cinema during the 1930s and' 19408 ? * fl(,m I St @ 2
yt/z‘ohrabal Ambalewali - - sﬁgq-a-,g JETAITEA!

(B) Lata Mangeshkar (B AT TR

(C) Noor Jahan " (C) T

(D) Kishori Amonkar i, (D) ﬁ;‘«’ﬁﬁ IR

(E) Not attempted

b (E) :ﬂsmTﬁqa

S1. The sum of digits of 4 two dngut number | 51

is 11, If the digits are reversed then the

: aa@rﬁ@e@r%ﬁmwa‘m 1121
A S B Iere R I, @ et
NeW number is 9 more than the original T & 7w 9 s ‘% | ariferss
number. What s the original number 2 T R 7 )
P 65 (A) 5_‘@_:',1 . &
(B) 68 8¢

© 45 sy

(C) 45 | (V
D) 54  w¢ (D) 54 /go ‘
(E) Not attempted (E) Irnfya Q
52. What is the average of flrst 40 natural | 52, wem 40 Wﬁﬁ T3 5 a1
numbers ? B o
(A) 195 (A) 19 5 (B) 20
20.5 (C) 20 5 (D) 40
(E) Not attempted E) mﬁaa
53. What is the relationship between HCF 53. @ e@mﬁ a 3111 %bi? TEY. R wEy.
‘ and LCM of two numbers a and b ? % o = O
(A) HCF+LCM=a+b (A)T-I'Hq + W8T =a+b
(B) HCFxLCM=a+b =& (B)W“ xTAHA =a+b
b Ll (C) HHE. xAHI. =axb
/(([;/: None of the above (D) 3q§q“
e ligl? E :mm
(E) Not attempted i, (E) e0) <
0.3 [SICR R
03 @0.7 '
°q O.027
L 00y 9,09

l



54. Which of the following famous battle was
fought in Sirsa district of Haryana ?
(A) Battle of Thanesar
_ABY Second Anglo-Sikh war
(C) Battle of Gujarat
(D) Battle of Chormar
(E) Not attempted

55. Which of the following are the primary
components of g Computer system ?
(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage
(B) Operating System, Software,
Hardware angd Internet
Sy Tentral Processing Unit (CPL),

Memory, Input/Output devices and
Storage devices B

(D) None of the above
(E) Not attempted

56. Which computer was built
University in 1946 ?
—A) Universal Automatic Calculator
(UNIVAC) 1
(B) Electronic Delay Stora
Calculator (EDSAC)
(C) 1BM 701
(D) PDP-8 S
(E) Not attempted

at Cambridge

ge Automatic

57. Who among the following was the first

Indian-origin woman to travel to space
and was born in Karnal, Haryana ?

(A) Sunita Williams
(B) Santosh Yadav
(C) Manushi Chhillar
(DY Kalpana Chawla
(E) Not attempted

CE1G - 25

54. = % fen et § frerffen § 3
HH-41 Wfig g o T ot 7
(A) UHEUH g
(B) Tt stiver-firrg g
(C) T =1 g
(D) =HR 1 7
(E) 3Trmfda

55. ﬁm%&aaﬁﬁaﬁq-ﬁds%%m%
WA ek & 7 ]
(A) Hget Strafem e (¥.d1.7.), wifre,
AFL 3N F8E R

(B) ATRFET fireey, TIRRR, BIERN 3ik
ELCr

(C) Tger wrafdm e (), LI
T/ 3T8eye feamsy 3k i
feameg -

(D) ST F § Y 7

(E) 3trmfyq:

1946 3 K. frzafireony & HH-T
L TR T o7

56.

(A) Tt sidfoss Srmpeier (UNIVAC) I
) T Rt it st
T (EDSAQ)
(C) 1BM 701
(D) PDP-g -
(E) stranfem
2?;“*‘ AR T e o s
1w : )
(A) T T gt o
(B) HaI ey
(C) et foseom .
(D) weu wmae
(E) st
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SB. Which i
1Qure giv )
Complete 1heg enin the alternatives will
question

Pattern in the figure givenin

i
=\

(E) Not attempteq

59. The Sheetalg Mata Fair is organized in

Which district of Haryana ?
LAY Gurugram

(B) Jhajjar

(C) Ambala

(D
(E

) Karnal
) Not attempted

60. Angles of a quadrilateral are in the ratio

3:4:4:7. Find the smallest angle.
(A) 20°

~«B)y60°

(C) 80°

(D) 140°

(E) Not attempted

LY

Which instrument is used to measure the
wind velocity 7

__(A)-Odometer
(B) Thermomeler
(C) Anemometer
(D) None of the above
(E) Not attempled

61.

«16-

59.

60.

61.

CE1G-25

58. S H & 1 srpf 3 ect o et

afé"ﬁ:{-tﬁqu;}rﬁ?

TG

?

(A)

<

(B)

© | O

N

(E) T=mmiiyd

g % 5 e o shaen o gen
SUIRI GRS

(A) TR

(B) F=s1

(C) T=Ten

(D) HETA

(E) Tt

T I %F T F1 I 3:4:4: 7
? | HE® BT B T4 IR

(A) 20°

(B) 60°

(C) 80°

(D) 140°

(E) mrnfaa

g 3 W % T R Iv a5 e
fepan e 2 7

(A) 3irenfiat

(B) umhiet

(C) wiwfiet

(D) 3wfw o B wi§ T

(€) awnfta

e
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62.

63.

64.

0\ .

j'-\nand and Deepak started a business
INvesting X 22,500 and 2 35,000

respectively. Out of a total profit of
%13,800, Deepak’s share is

(A) % 5,400 (B) 7,200

/(E'f? 8,400 (D) % 9,600

(E) Not attempted

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

/(A’(\ 4 days

(B) 7 days
(C) 6 days
(D) 8days
(E) Not attempted

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?
(A) Only 1 L3
(B) Only 2
(C) Both1and2 A
(D) None of the above
(E) Not attempted {5

)

20
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62.

63.

64.

g™ _\/Gﬁ)x \9 =
oM A g'“

¢ CE1G~25
T 3R due 3 HE: T 22,500 3k

% 35,000 1 T3 FHeh IaEE IE fory |
% 13,800 % HeT @ H | <IUh I Ty
fepa g 2
(A) % 5,400
(C) < 8,400
(E) Tnfda

afe 6 769 9 8 s fhell Hr &l 10 fiy
A T Thd & AT 26 T6Y 9 48 TS I
w1 2 fom &t TRd B, A 15 Wy

3T 20 T 39 A I HW T e

g o ?

(B) % 7,200
(D) ¥ 9,600

Sty < iR % o # A

FYHI T f=m = |

1. 1Y 1 TH ST w9 Y TR
Top S aren wnffe . e g

Terpfirer o Tt srgvrererer sreram
SThTOT AT R |

P I 3 T 3 steramy 35 fr
F i ufis Haw ) g o |
Eﬂﬁﬁﬁaﬁq-m/ﬁmqa%/—g?

ﬁﬂa1
()
(C)1aﬂtza—-h
(D). 394 o & g T
(E) T5anfera

&m «\f\\?ﬁ) ~ )
_ 51m+of &
16 1A %
|

g
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65. S
elect the correct sequence of mathematical

v S.
t t:gns. to replace the * symbol and make
e given equation correct.

Equation : 216 * 6 * 8 * 64+ 48 = 500
(A) + - x, + /{,Bf+,+,x—

(C) x,+,+, - (D) x, {,—:+

(E) Not attempted i

66. Where is Chokhi Dhani situated in
Haryana ? o
(A) Panipat
Karnal
(C) Sonipat
(D) Kurukshetra ¢ L
(E) Not attempted
67. Consider the following stater‘f;e‘hts about
Constitution of India.
i, Article 48 envisages Statéé to provide
free and compulsory ed@lc“:‘ation.
i The Parliament of India brought
86" Constitutional Amendment Actin
2006. e
i Through 86" Constitutional
Amendment, Article 21A s inserted
in the Constitution. ey
. Right to education is a-fundamental
right for children between 610 14 years
of age.
Which of the statements given above are
correct ? -
(A) Only i and ii J
() Only i, il and i “'
(c) Onlyiiiand iv e
(D) All of the above 3
(E) Not attempted Wl

DT

pes
ﬁ
e
CE1G — 25

65. Tttt fergi a1 e shw g S + I

66.

67.

?%mﬁammnﬂwaﬁﬁw
|

m:216*6*3*e4*43=500
(A) H Xt (B) ey X T
(C) Xy byt — (D) X, +y 71 =

(E) It

o <eh gt el
(A) T

(B) HTATA
(C) |Had
(D) FREA
(E)W

s i 5 R 8 Pt |
e |

e g e A e I
s e 7t 6

FEr e | |

o ) I 5006 T 86l

el |
i, 863 Tt HE ¥ e |
'Hﬁ:[%TFI ﬁ 313—.@3 o1 A STt TR
kY ‘
v, Rt &1 e 6 3 14 T Y Y H
=51 % R T M SRR R )
Ry e e - R AR R 7
(A) i 3T |
(B) et i, i S i
ey et i 3T iv
(D) S wH
(E) SR



8. Aca
an exam

candidate
gets 42 marks more than passing marks.

What is the total marks for the exam ?
(B) 400

F 600

ndidate who SCOTes 20% of marks in
fails by 30 marks, while another
who scores 32% of the marks

(A) 300
(C) 500
(E) Not attempted

A 1
R

69. Which of the following equation

represents a straight I|ne '7
/('K( +y?=25

(B) 2x +3y =6 ‘

(C) y=x+4

(D) None of the above

(E) Not attempted

The seasonal river Markanda originates

’ 70.
from which area of Haryana ?

(A) Aravali Hills

/aa/ Shivalik Hills

(C) Rajasthan Plateau

(D) Yamunanagar Forest

(E) Not attempted

71. Where is Maharana Pratap 'Horticulture
University located in Haryana ?

(A) Sirsa

(B) Jhajjar
(C) Sonipat P

)?/ Karnal el
[

) Not attempted 04"

CE1(,~._25

68. TR e & o ufiqam 20% 37

O 3 W 30 siet & A @ Iy
ST g Sefigam S 82% 31 ST Ay
&, 38 ol i @ 42 37 I B
e F1 et sl A1 B 7

(A) 300 (B) 400

(C) 500 (D) 600

(E) TSt

69. ﬁw%ﬁgaﬁﬁaﬁ?—matﬁwwwﬁzﬂ
Y oy sfifife e 8 7
(A) X +y? =25
(B) 2x+ 3y =6
) y=x2+4
(D) sqgwﬁéﬁ%?‘é

(E)

71. ‘afﬁtrrﬂﬂﬁﬂ‘a'rfrm S LIERCIUCIE]]
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72. Match the following.

National Parks

Wildlife Sanctuatl'ies

a. Corbett National
Park

b. Sunderbans
National Park

¢. Bandhavgarh
National Park

d. Sariska Wildlife

States

i. West Bengal
ii. Uttarakhand

iii. Rajasthan

Sanctuaries iv. Madhya Pradesh
a b c - d ‘
(A) iii v [

i v
% ii v
(D) iv i iii i ‘
(E) Not attempted o

73. Tangririver is a tributary of WhICh river ?
(A) Yamuna )
(B) Ghaggar
(©) Ganga'

(Pf Markanda

(E) Not attempted

74. The common difference of the Arithmetic

.1 1=P 1-2P =l
Progression =, ——» 5 ¢

P P P g
M B) ~5 '
©c 1 D) p
(E) Not attempted

Which of the following Project of Haryana

@ y Great Green Wall of Africa ?

is inspired b il
(A) shivalik Green Wall Project,
(B) Chandigarh Green Belt Perect

(C) Aravali Green Wall Project;'|

Haryana Forest Rebuild I‘:{r'piect

Tyaafiue?

(E) Not attempted

72.

73.

74.

75.

AT : q@qﬂﬂﬁ
a. Fiae TG M p—
b. Yo T I " S EIE]
% mm ﬁﬂm 1l. 9%5[
e e T V- T

d o d
A) iii IV i |
T
© il gpmi M T
(D) iv i iii i
(E) 3rstad
sty et e 7 A o D A 8
(A) T
() ™
(D) HRHUST
(E) S

1 1-P 1-2P o
w5, 5 e
(A) -1 ® ~p

1

) 17 D) 5

s < Bt 3 & -
i 3 e 7 e & e R 7
() Reeeres i sfer et
(B) FETg 1 ez TR

() e i et Ao

() g w A Wi
(E) 3Tt
Q
\
@ - RSN
— - J
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English Lanquage

Dpirection (Q. No. 76 and 77) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.
The cave of Ajanta and Ellora (76)
the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(77) tourists visit these places every
year. One can stay in the guest house.

76. (A Ts
(C) are
(E) Not attempted

(B) was
(D) were
(B) from
(D) at

77. (A) for

AG)of
(E) Not attempted

78. Choose the correctly spelt'fvyord from the
following alternatives.

(A) permanant (B) permenent
(C) parmanent (P,)/permanent
(E) Not attempted

79. Give one word substitute for the following
expression. N
A period of ten years. | "
_VAY Decade (B) Century
(C) Pioneer (D) Cavalry
(E) Not attempted

80. Choose the correct synonym of the .
following word from the alternatives given

below it.
Ultimate

(A) Beginning
(C) Final
(E) Not attempted

4By Famous
(D) Victory

-20-

81.

82.

83.

84.

85.

Fill in the blank with the correct
alternative.

| for my pen. Have you seen it 7
(A) will look (B) looking

(C) look am looking

(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Mild (B) Flowering
(C) Quite @Y Fading

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) To find one’s roots

(B) To return to place of rest
Back to original position

(D) To emphasise

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945, -
AT on. (B) at
(C) in . (D) for

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It __. since yesterday.
(A) is'raining
(B) have been raining
/(Q)/ has been raining
“(D) was raining
(E) Not attempted
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46, ‘§+31Tqa~

Sy,

(A) a1y
(B)
™
(D) &
(E) 3w

g

87. °

EA)ﬁ . ey g

B) g
(C) wrareh

g

(E) It
8. T v Friver v , e

89. mmmmmé ?

(E) 3Tmntad

g0, ‘el wEwt s o ol Y T STl

RE T forg a1 ol 3418l
(A) FFFT qTH "
(B) T A1

(D) T & B T o
(E) ST

27

CE1G — 25

f&=t

n4

91. ‘‘TH I M Yea @t v urd Bl
W | AT R el o 3gE @ 7
/W/qu:dw
) 3TYUt cehTet
) WA Tl
) R~ YT
) TSR
92. ‘ﬁﬁW'WWW%,WY@
1 & el wieg A g |
(A) feegor
(B) Frhem
(C) ffem

(B
(C
(D
(E

(E) 3rramere
6. éw?r AR el .
Wéﬁé@mém%|
(B) WA Y THIT <l STl T
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(E) TR
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By e feriomr
) fr
(D) ferTem
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